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(3hours)

- N.B. 1) Question No. 1 is compulsory,
- 2) Answer any Three from remaining
3) Figures to the right indicate full marks

1. a) Find Laplace teansform of Ft) = e tsint. cos2t, 5
b) Show that the set of functions cosnxy,n=123....is orthogonal on (0,2). 5

¢) The equations of lines ol regression arc x4+ 2y = 5and 2x + 3y = -8,

Find i} means of x and ¥, 1i) coefficient of correlation between x and ¥. 5

) Ew[uate:_f; (2* — 22 + 1)dz where C is the circle [2] = 1. 5

a) Using convalution theorem, find the inverse Laplace transform of f
Fis) =

(52 + 92 + 4y
b) Obtain Fouricr serics of £(x) = [x| in (—m. ) 6

- ¢} Find the bilinear transformation which maps the points z = 1,{, —1. onto the
points w = i, 0, —i, Henee, find the image of |z| < 1 onto the w-plane. &

Ba)lfv= efsiny, prove that v is a harmonic function, Alsg tind the corresponding

harmenic conjugate funetion angd analylic function, &g
- ] . d*u  du i
b) Using Bender —Schmidt method, solve rrehe i 0, subject 1o the conditions,

w0, t) = 0,u(5,¢) = 0,ulx, 0) = x?(25 —x%) taking h = 1, for 3 minutes, &

.c} Using Residue theorem, evaluate

r 2w o8 L R
1) Iﬂ 2+rosg "}jﬂ xiyq 8
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Q.P. Code : 3915 "

gru_ Gu _
4. a) Solve by Crank -Nicholson simplified formula =5 = 3¢ ¥

: .25 for two-time st 4.
u(l,t) =0, u{l t) = 2t, u(x0) =10 taking f = -Ei_',s-

[unction
y) Obtain the Taylor's and Laurent series which represent the 1t

fl@) =

2] < 2 il
m'ﬂ the regions, ) Jz] < 1 1) 1= 21

:E. =:"
E:' SD["-"E [DE -3+ 21}‘ [ 4_E,1E H’Ith:l-"[n} = =3 r}r-’{ﬂ} = 5 wh&t‘ﬂ .ID = I'-'H-' . -'-',

5. a) Find an analytic function f (z} = u + v, if
u = e~*[(x? — y?) cosy + 2xy siny}

L 3
exist?

= 5 ' L- fl}q II
b} Find the Laplace transform of %— _Does the L.T of

¢) Obtain half range Fourier cosine series of f(x) = x, 0 <x < 2. Using
Parseval's identity, deduce that —

ﬂd. 1 + 1 + 1 + . i :'_

g5 1t o4 /]

- 6. 1) Obtain Complex form of Fourier series of p '[x:|=wz-‘r 1=l

b Fit a straight line to the following data,

x { 100 || 120 | 140 | 160 | 180 | 200 ol

v } 045 | 0.55 U.E-[b'l 0.70 | 0.80 | 083

¢) A string 15 stretched and lastened to two points distanee | prt. Midtionis .st.' .
by displacing the string in form y = asin{rx / I) f'TD:‘n which it is IL[LEELd |

== 1 '.. t
time £ = (. If the vibrations of a string is given |._,}. ﬂﬂ - . [Elﬂt

displacement ol a point at a distance x from one end g1 time rﬂﬁ ggwcn i
(e, t) = asin(mx /) cos(met /). !
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Q. P. Code: 25569
{3hours) [Total marks: 80]
N.B. 1) Question No. 1 is compulsory.

2) Angwer any Three from remaining
3) Figures to the right indicate full marks

a} State Cauchy Reimann equation in polat form, Use them to find pif

f2) =rfcos 268 + i sinpf is analytic, 3
b} Find Laplace transform of £(t) = te * sint . ; =]
c} Find half-range sine series for f(x) = E in {0,m). Hence, show lha't. 5
E= 1_l+1_.l..|.
4 & b

d) Evaluate [ (x— z*) dz, where C is lefl half of the unit circle from —i fo i, 5

o a) Obtain the Taylor's and the Laurent series which represent the function

2
= - : nlzl<l pl< s

| fi(z) eohi—p " the regions, 1) | | i) | z | &
!
|1 b) Obtain complex form of Fourier series of f (x)=&™ , = 1= x<1in (-1.1). &
]
| ¢} Using Laplace transform, solve the dilTerential equation,
E, -;—": + Zx =toswt, with x(0) = 0, 5
1
& i Fu ,
: EI:? salve e — 1”[]'5 = {} with u(ﬂ_ ,t::l — i u{lr t] =0, u{x, Q:LT_—--T-{_]. o I]
8 taking h = 0.1 for three time steps up to & = 1.5 by Bender Sehiidt inethod. 6
b) Find the bilinear transformation which imaps the points z !=‘_!:L - L, 'infl:i-"thﬁ
e . i
£ oints w=1, 0, o, 5 :
ki ' A .j ) X, Ocxsm Ho e 6
. ¢} Obtain Fourier Series of f(x) = {Eﬂ' —x, wex<de 0 (027) 2
-

oy

Henee, deduce that —

el

rr'*_ 1 1 1
__F_|.§H_+__+-,,,
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Q. P. Code: 25544

#. ) Find the arthogonal trajectory of the family of curves 2x — x° + 3xy* =g
b) Find the Fourier serics for f(x) =1 —-x* in (-1, 1). Ry

c) Find the inverse Lz_tf;.la::: n'ansfnnn ol i
) Fig) == 25 using Convolution theorem, i1} F(s) = cot™1(s +‘1} r

(52497’ -
. a! i ﬂu .
2 1) Solve by RorT e ———= !
) Solve by Crank Nicholson simplified formula SxZ  Ap d,

M) = 0, (5,6 = 100, u(z,0) = 20 taking /=1 for one-time st §

b} Find the image of the circle |2] = 4 in the
W=2z+4+2+3i Draw the sketch,

| e =322y 4 5%y ~ 3, show that v
- dnalytic function flE)=u+tip,

z-plane under the transformatioy

is harmonic and find the r:urrcsp'q‘:lrnq'ili 1

ir

| d L
6. 8) Using Residuc {
g Residuc henmm, evaluale, ! 5~Tie 8

b) Using Laplace transform, evalyale .['EIW €781 + 3¢ + LAYV H(t — 2)dt

€} A tightly stretched sirin
defined by y = fx(y

of rest, Find y(x, £

£ wilh fixed “nd points x = Gand y = | in the shape k
— %) where kisg COnstant, is released from fhig position
the vertical displacement if _'jz____}' = 2 f_zg a9

dxa’

i\

e Page 2 ap2

y i e
| i G Ij._{.il.lu_-.,|1._1I -"‘1""[«':'."'5[-1.1'.'[“3”
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OV CORE 2 27637
' { Three Howrs) Mlarles B

o EM i comprdseny dnvweee s flieee Srom e resaaing five guc o,
s feeiome sitahle data, wherever regatired A
N A assT TN rr.u::’."_fh'.'u'iﬂ e waue

o Susne answery Wikl skedehes wherever regaired.

[Frage foaibly with BMae or biack Ink pen, Use percl andy fo drav dicgeams end praplhs e

| Answer any [our oF the followinp,
. Detine bulk modubez, Devive an exmession for Younp's modulus, in terms ol fo5f
bulk modulus and Poisson’s Ratio.
B oA short colugnn of exterl d:l'.mlu}ur 400 mm and intemel dameter 200 mm
carties o eecenite load of 30 kN, Find the prestest ecgentricity, which the load
ean hove without producing tension un 1he eross section.

v State the assamptions in e theory of pure bending and deeive the formulo, fsf
N
F~ % R

d. Find the maximem shear stress indoced in o o=ol3d cirealar shiaf"of dizmeter  f05f
PAD arre, wheen B transimats 1501 poveer al 130 1pin.

e Asteal bar of 30 mm x 30 mm in section and 3 m ieneth & subjected o an axial | fiS)
pull af 140 M, Calenlate the sirain energy stored in the bar, Find also the
gxiension of the bar. Take B= 200 GPa -

£ A contilever of length & m carries wnifonnly varying load of intensities zero ol 03]
frae ..:nd a_uuj 2 kN/m ot fired end. Dk slears f::-nL and bending moement
diepran:s fair the hesmm,

Ma. A 1:|:|m]-,|uu.:|..] Tube l:l;!ll,'ls,l,ﬁ‘lﬁ of o seel whe of 140 mm inlemal diameter and  f10f
160 ]]'liTI c-.n'.ln:muj dmm:tr-r and an outer brazs wbe of 160 mm internal diameter
and 180 mm cxlemal dizmeter. Both the two whes are of 1,5 m leapth. 1 the
.ﬂﬂl'.ﬂplu.!ili.l.-ﬂ"ll.lhE FﬂTriEh‘. an axial compressive lopd of 900 kN, (ind it reduction
in lenpth. Also, find the stresses ad the londs carvied by each whe,
E, =2 % 10°N fmm®, B, = 1 % 10°N fmm?
lr, A pout lowd of 10 i, applied w0 a simpiy supported beam 30 mid-span, R
pr-:rd'u:'f:':_-: g deflection of & mm and a meximum bending stress ol 20 SNimm?.
tn].;u!m:_ the maximum vilue of the momentary stress produced, when @ weight
of 5.kM i a[l_m-.'r:r]:'u.'r fall through a height of T8 am on the bexm at the middle
of the span.
I g, Two mutally perpendicolar plones of as element of material are subjected w J10f
tensile siress of 103 ¥ frmm”™. compressive stress of 35 N frm® and shear steess
of 70 N frmm . Find graphically or otherwise,

i. Magnitade end the direction of principal stresses
il Mq].gﬁ[ludc of the normal and the shear steesses on o plane, on which e
shens 5i0ess 15 mouimm

' 1 TURN QVER
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Upaw axnab foree L shear foree and bending mosment digemams fior the beiim
leaded a= shown aa Bowre. Logite 208 inpomans points.
Lk OEhe BHEN m O0EN EheDha
| e
: = P &
.. . :
~Lot- [ Il = =
21 _dm | _ il 4 2Ln

Deteriine the position znd the zmeont of maximum deflestion for the beam

stown invthe fepure, Take, BV = 1H % 105 k8,

GLY IJ h Zm Flei
4 J l i
l iR .
e} 1 [ =m £ Y 1m im
20kMm

Aoweight of 200 kN is supparied by thoes adj acent shan pillars i a row, cach
200 sum® in seetion, The central piller is mads of stee] and the vuler ones wre of
eopper. Dhe pillars are adiusted such that at 15 0, sach cordes equal load. The
TernpeTiies is then raiszd o |15 *C. Estimatz the stresses in ezch pillar gt 1550
and [13 °C, Take: E=210° Nme?, E= 0.3x10° Nimm’, o~ 12510520,
o= [LBax10%0

A hollow shall, having an imarasl diamerer 40% of It exiemnal diameres,
weansmits 362:3 kW power at 100 rpm. Determine exiermal dismeter of e shafl,
i sheas stresg is. not to excezd 60 Mimme, and the twizt in 2 length of 2.5 m
shouid not execed i 37 Assume il the naaxinung torgue 15 123 dme the meon
orgue aurd G-‘ =910t N mme.

A -:Ju:.:»..‘l evlindrical 'r':s.t;-:i rn"' ¢ af El.lzef p,n‘d: 4 mm thick with plana ends
c;arnc.-s “fid I-Jﬂd“‘l a pl._-:sure af 3- h-'rl.m The diameter of the cvlmder is
230 mm and the l-e_r.[,th s 750 mun. Calowlate the longitedingl and hoop stresses
in the cylinder wall and {eiermine the changes in dimnzter, lenath and volume
nf e c:u']]n-ir:r.

E =21 = A0° Nt —= 0.2B¢

..I'-

A hallow cast iron colume of 200 mm extema] divmeter, 130 mm internal
_n:m:m,[zr and & m long has both ends

ds fixed. 1115 subjected to axial COMEressive
laad. Takml_., firctor of sifely as b, o = 360N fnm®, o = e L determibng e
EPTE]
cafe RKankine lead.
A mimnply supported heam carries 3 UDL ol inicnsity 2.8 KN/m over a span of
5 m. Thie SRS El:,-;.l:lun 15 T-section having Range 123 mm 3 25 wum and wehb
1753 mm = ?;S_mm. Caleulite maximum hending stress and shoar stress for e

seetion of the besm, Also, deaw the shesr siess disigbution diapimm for

maximum shear force,

1ol

[

{18}

)

f1df

{08}
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Q.P. Code: 27345

Duoration: 3 Howrs Total Marks: i

i

MN.LB.: (1) Question No. 1is Compulsory. Answer any THRER from (he remaining KIVE questions,
(20 AN questions cary equal marks,
{3) Agsumne suitakle dutn wherever PECESSNLY,

(41 Figures o the right indicate max, marks,

1. Attempt Any FOUR i [20]

() What 15 Fular's theary Tor long columns? List out the agsumplions made i it Ey

(B) A uniform steel bar of 2 m length and 20 mm dismeter is stibjected ta a pull of 60 k™. Determine the
™ steess, change in length, sirain encreyv stored wnd resilience in the bar when the pull is applicd
- graduglly. Take E= 210 GPa At

{c) Draw Slress- Strain curve for ductile materizl & expluin saliont points on it.

{d) A hollow circular shaft transmits 250 kW rower al 4040 RPM. Find the diameter of shaft necessary if

the allowable stress s limited 0100 Ninm®. Take rutic of dizmeters as L6
(e) Write assumptions made in simple bending and derive flexeral formula,

2. (a) A thin eylindrical shell, 3 m long ard | m in diameter is subjecied to an intemal pressurs of 1 NYmm?,
ITthe thickness of the shell is 12 mun, [ind the circumferential and longitudinal stresses. Find also the
mEAX MM shear stress and change in dimensions of the shell. Take E =210 GPa and I'm =10.3,

[(k]

(b A rectangular block of 220 mm x 1 311_ I x 80 nun dimension along x, y and z ditections respectively.

Find the axial an_si[_g I}m:sh FI..D_Ij:_P}-_ilL'-.IC.iIIE on the block causiog an increase of 0,20 mm along x-
direction and 000625 mm along z-direction. F_[_nd also the decrease in dimensions along y-lirection.
Take, Poisson's Ratio= 0,3, E= 210 GPa, No load acts glemg y-direction, 112]
3. (a} A uniform rigid block weighing 200 kN is to be supported on thres
: ig 2 gap of 3.5 mm between the hlock and the top of the steel har,
bars. Take, Es =200 x 10° Nimm? and Ea = 200 x 10° Nimm?
% 20 mun end steel rod of 25 mm % 23 mm as cross section,

bars as shawn in fig. no. 1. There
Find the stresses developed in the
- Two Aluminium rods are of 20 mm

[12]
| ﬁ 200k oo
[2:50n . =
b Aluminiym
b J Famey 1 0mm
B Alyminiurm " i :"""“,,:'.;E 2-5m
5‘. = ARl AT Tl ot A
:.'-.‘I“_
': . Ao Mool (a.3a)
I ol .
B
: AFEESI0ATI TIP3 1A SICREAER
I
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Q.P. Code: 27345

' ] " TE i 4 2
(b) Determine the safc load that the hollow cast iron coluran having outsice dizmeter 200 mm cay Cay
by Rankine’s using farmula. The column is Sm long and fixed at bath the ends. Take metal mltk.lu;‘-
- |

= 20 mm, Ge= 500MPa, E = 94 GPa, 1/x = 1600 and F.O.S, = 4. [0g)

4. () Caleulate maximum deflection at point D, slope at A and maximum deflection in terms of ang |

for the beam shobn'in fiz, no 2. (12
; 40kMN  Fpkp
o 20krlrm
! ] e =
[l i) B E%};f
3m # 2y J 2 [ 2m
| I |' I
Faro. 2 ( & 4 a) |

06 m, as shown'in fig, no 3, can Camy

(b} Find the maximum u.d.l. the stnply supported T-heam of spa
(03]

if the maximum permissible siross je not o exeeed 200 MPa.

l 1= 0mmn |
i I
- <. ‘"
: _ 20mm
) F B
13omim
oA —15 =

Flee He3 (8- plo-4b)

i
g

5. (a) Draw SFD, BMD and .H:,;-Iﬁr Pl e _ e
; :éﬁ'*“?_ﬂ%ﬁiune'.it'_;n}f.' R lﬂETamﬁJr the beam shown in fig. no 4. Alsp show the point of x.
: o : A [12] “ifb)

__FI'E:-I"'- Hﬂ! -q- Cﬂ.r Hﬂq Eﬂ‘) e

T . iy i et AFEEs3 nh?zﬂmaﬁ Iqlﬂljj':El'-ﬁEﬂ
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Q.P. Code: 27345

(b} A simply supported east iron beam of inverted T section carries ud. |, of LSO0NAn, as shown in fig.
o 5. Diraw shear stress distribution acruss the cross section e miancimurn shear foree lo: the heam.
: [08]

E JAmm

L loomm |
| i
Flg Mo 5 (f-No- 5b)

6. () Deaw SFD and BMD for the heam shown in fig. no 5. " [10]
20kN - 15kN
1ok /M

2m _L 3 __T__ am |
[ l !
Flg-No & (auNo-6ad)

SL R

; {]-":i CaJr:.hiate ﬂ:l:.d.jamcﬂ:r of shaft il the angle of twist is net to excesd 1% in a length of 20 times the
O diemeter of shaft and maximum permissible shear stress is not to exceed 100 N/mm?, Take, G = 84
Lo GPa. Tf the shaftis replaced by hollow shaft with the ratio of diameters as 2, find inside and outside

dinmeter of the shaft. A shalt is used to transmit 50 kW at 150 r.p.m [10]

IFEESAI0ATIHITIANE 34 1 4ASICBFAER
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}r*'.r.phll.'r%uh; l5;‘-’:--‘1"'!“,‘." CREGE Jf' FFI /llrarjrlk
Qf‘ Endc+3?!}39

Time : 3 hoors AR Marks' ['.IlllI
Mote 1. All questions carry equal marks. EETE S B
2, Question number one is compulsory. s gt :
3. Selve any three questions from remaining questmns -Z-:F_ el e :
4. Assume suitable dats if necessary, s b ?
Q.1 Answer any four of the following, R R R
i} What is high speed machining? W]mm-uthc D:ql.llremenh of h:gh speed = :" T
machining?
i) Write short note on tlexible manufa.-:tunug s:.rstL,m
iii) Explain general arrangement of mwd plate injection molld.
) Wrile the difference bet'ﬂ.-'e:njlgs and: fixtires, - :
V1 Why pilots are used on progressive die? Explain ’typr:s of |::-Jl|:rt 2
Vi) Explain principle, ﬂd‘-’ﬂntﬁﬁﬂs and [ll“ml-ulmns quase;beam ma{:hm:lng
0.2 a) Explain following design prm-::ap]r:s used {u jgs anu:l.’“h:-:rures it
1) Fool proofing A R s A R T ..-'_."“"' -
il) Burr grooves g e '.-h 2 “‘ ; Sy
iii} Fjectors AT e e e T L
b) What is mdemn"‘? E.xphun an].-' -::-n: r_r.-'pe uflrl.dl::-:mg_:]g u,':th n:uf. skcmh 10
Q.3 4) Why jig should haw, four fiset: nut ﬂqm’-‘ o it e 05
b) Write the design prmmp]cs lised: for ﬂze h.lmmg f';rmres 4 (s
¢} What is Lit‘ﬂIﬂﬂEE 'IZII'J l:umuc. dies. What ré Fscrn-rs atte-:unq clearanee? 05
) What dm :fcm mr::m I:u:.r hmdlm, ull-:rwa:he’-' ‘n‘r'nt-:the im:tnre affecting ic 05

2.4 Write z.hnrt mm on 1]1E fﬂllnmne
i} Strip layout 03
ii) Doukle action redeaw die. 05
u-]l J;:-:pla.m various methods of l'edUL.mg cutting fores in culling die. 5
iv) With thie neat sl:-:tn::h Et:-:p-]zun the principle and working of abrasive jet

machining. : s

(0.5 u) With neat sketeh explain feed system. What is the balanced feed svstem? Alsp 10
- write factors affecting munner size.
b} What is gjection system? List gjection techniques and explain any one of 10
‘them with neat sketch.

(h6 ) What iz agile manufacturing? Also write enahlers of agile manufacturing, L0
b Explain with neat sketch, principle, w orking, sdvantazes, limiletions & Lo
applications of EDM.

LEE ST LY

TTPE——T

ARFSTIOIFMA ™ S ETIET & 30 rhmirs e o om i e e
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Q. P. Cade: 37936

Time: 3 hours  Marks: 80

MR, 1} Question Mo 1 i3 compulzory,

2) Attemnpt any three questions from remaining five questions.
A} Figures al ight indicete marks,

0. | Wrile notes on any four:- (5x4=20)
1 a)  Smarl materials ' :
b} Creep Test
| ch  Effect of Alloving elements on j_.:II'LI]'Jl:l'tlES of steel,
i d)  Critical resolved shear stress

ey Classification of Stainless stecls

-

P Q.2 a)  What do vou understund b].r i_umpn::sne mai:na]s‘?' Expiﬂm tht:-u {lﬂj

i properlies and applications. " = ' S
| b} What is Fatipue? EXE-].HIH Iﬁhgue l-:stu:g in |l|..!a1l b flﬂJ
; 0.3 4 Drw FeFeoyC TJla.g.tzm a.nd Explam cm‘lmg uf IEI E‘ F.'Ji t a]lq_‘? ST {"]}
the Fe-Tea? Diiu i LT
b} How are dusfn:ﬂﬂm reg:ngral-:dxas ‘Praqk Rqed Sl::u:ce‘? Exp!ﬁm {1
with n-’.‘-ﬂtljlﬂE,TFlln T ;"_.-" s Ay Q .

4 A Draw s anr.! ﬂcxp“IHm -:mﬁl:gmﬂm: nt T:mgu T:mpe:uturc {1
!rmfurmﬂ::jl{?&{‘f .H} dl@E!‘Eﬁﬂ ~Also .I.t't._ﬂll:ﬂfﬂ?-' x-ﬂrl.pus cooling
jabrdm - T
h) .-:D;m.-:n méxpmsalhq“flqr fﬁ'mtﬁmmqﬁénltfcxﬁ'm:tum Explain {10)
H,;uw.n-s F-Ip ﬂu&‘uﬁh A

TN - o "-'" L "‘:\- 3‘: :'h:\-\.-'
"'h 2 :I ':: -\.'\ i -E“-‘-' '- s L\H":" 1:|:-'.- '." l-.:-':\-{-"\-gg ‘F"- -.ﬁ.::\-}'\-"‘:::.: i
N SR LT ]
Q_S S ?ﬁﬁpluqné @F @ﬁﬁ@yﬁagwﬂpﬁ%mﬁehmmn. CoLo)
#@»f x_i;jzgf;{ifq, p}rslﬂh Itug:qfctpfi}ns “‘Ihwhg‘l:ush between Edge and (10
Ee .;—Sm-ﬁ.smmmﬁ;-; A ot
- % _1_,. :._ A ". -"-\.\,"\-q_-..__
Sy ; A TaaRE
N n- e '\-q_ -.'e-'-.M {5}54=1[]'_]
r,-"—:‘.“h“-.“ ]f' e F AR
BEs . - 5 Martéhj;,l"*" FaE s
'1.:'1_ = o i
5;5‘:1 - ﬁc}l" “%ﬂﬁ!fﬂﬂiﬂlﬂﬂlﬂ{ﬂnﬂ!ﬁ*
o 3 7
é-;-;:v.-g:{ <) s ‘:rﬁamllmafm Annegling
) Jhes ‘R e Em fa
b 1 R e:u :xturc.s IIZI:I‘-J..D.I'I'.I.]:'N]E;I’[I:E
:; .\.-S- o s = r.“'-'
.ﬁ-ﬁ ,
[ e ket
i i EFREE R
oy Lo B
’.‘1‘}5‘ pone: g
o =g . Sy
,_.'::I"_'.-.-\- ' = q—"ﬂ-'?‘:..‘f‘ -x. .x '\-\.\:h
T otk
I:l-:'-\.- -'Q;. BT L -\{. e +
[ = oy ; iz e S : ~,
| FEaneaa .
K, i_."\-‘__ 5] \'-"‘-' .:-

AﬁFSD!?IFDCECFDFJﬁECEE"DCMHFEEHH
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Ao R Q 1‘= L-_:.da. sum.

(03Hours) [Tﬂhl erﬁ-!‘ﬂﬂ]

et o ey h gLy
[RA D + Pulh i g tibran gt

N.B. 1) Question Mo 1 is Compulsory P S ﬂ* gt
2} Atternpt any three out of the remaining five qucsn::m;.;? _ < ;i_?;-_..::?:: - e :
3) Figures to the right indicate full marks ; S ¥
4 Draw ncat sketches wherever necessary T

Q.1 Differentiate between the following (Any Four) .5 710
b) Thermoplastics & Thennosetting I'Jas.T[us. _
¢) Hot working® Cold working _} S ';.' 3

b

d) Open Die Forping & Closed D]anrE;ng i o !
) Patterns & Core Boxes 0 SRR ke e e A
amton -k ch il SRR b v
, Pl I o o P et St
(0.2) &) Write short notes on Lhe I'anﬁing‘,i* e el e e Sl [10]
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1) Adhssive Hm‘ldmg : " . ._1"1;2:" )
- - .- 4 H. ..; i :_ - -\-.\:_ :;_ "__'.. . _'- - .-::;- 5
i} Extrusion Pml::L.Hﬂ A T AT e T
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b) Compere Press }'nrg:l.ug &: Un'FIL Fi‘nrgmg el:l-lE'prmmWElﬂztbmtjn f1a]
3. a) Explain - [L} anmpfc nfga‘uug [1[} F‘nn-:]p]e trfllﬂﬂllg S (1

b} Explain :m:.r lwn nun d:stmcme [enh:uqu-:ﬁ mth Slﬂﬂl:i'.l [14]

4. a) What i is [J-D-‘M]E:r rm:tu]lurg;,-’ Wh].- goars are manuf'actur-::li by powder metallurgy? List the
adwmtages +:rl puwd::r rnc*tnI]urg].- . [10]

b lefv:rﬂntiatl: t’t:]dmg, snlde;mg an-:i bm.ﬂng [0}
3, a]l E::]:lla.m the fu]lnwmg we]dmg pmr:rzasm W‘lﬂl their applications [10]

- i)-Resistance welding ii}-S_l._LbI_:':lefged.a:c welding

I:-jg Exp!.am in dii:t.EIJ;I the s'igri._Iﬁca':m_:'e'nf Produchon Process-T subject [10]
6 Mtsinpl the following: ~© [20]

#) Discuss types of flames in gas welding.
b) Write short note on application of plastics in industries,
¢) Describe Ultrasonic testing process with a neat labelled sketeh,

i) Discuss Blow Moulding process
TETTR
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N.B. = Questionno.! is compulsary, e L AR e
h. Attempt any three questions out of remaining five qucsﬁmus s S A A
¢. Figures (o right indicates full marks e e S s e
Ot Aeptanyfour f s lowg o
&, Describe automalic machines, R e T ey
b, What is thread rolling? A s
¢, How are seamless tubes ma.rmﬁar:lu::d? : :;." _| T 2 g
d. Explain explosive welding Ry s gl B
. Differentiate between are welding ﬂ.nd ﬂtqu!mu I::-:fam q-aftldmg, T -3"_-' . ;-‘ o

(12 a. With a neat sketch explain the pnnmp]e md.:ﬂm-ﬂ-:mg -:&( [aﬁer H-e,am ‘r'i"Eldll’lg Als-:n
discuss its advantages, limitations aﬁHﬂpp:]tmtmn. -x At :

b. Differentiate between the open 1m:-p and clns& htlnp :P.:.i'Eb:m O

¢. Hxplain gas culling Dpﬂ:mtmn o ;:.‘2 T T e .«-_ i e [06&]
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(3. o, Compare thermoplastics Mﬂh%{fﬂd‘ﬂethpg_‘;&lﬂs[m—s’ : '“;‘*.. ey [(+3]
h. Describe the desirable i:lmpﬁl'l'.‘l.!ﬂ-'i nanulﬂLtlg 5i1r1|:i AT [06]
c. Whal are transfer ma-:h.mes‘ff‘ IR q- o ? ,;' S g [0&]
Q4. a. Deseribe types ﬂfdnilmg,maqlu ". uﬁqhei’q pl:mﬂqn \ q. --‘-Cf- [08]
b. Explain blow m-nuldmg EEQfestmth anéat a{scfc"ﬁ R - [06]
c. What s riser? qucus&. 1|'.~s tﬂm&;‘ﬂﬂﬁﬁpphcahnn i o [0&]
Q5. a. Diseuss various :[ﬂfecm fnutu:l m v.'e!dmg S [0&]
b. Define chdubﬂtf.:r and déscribi the’ fanlpm*uﬁ"r:nhng i [06]
e D:ﬂ'frentmt&hen:-'ee:i hm wnr]-nng’ anr_f ﬁl:l-lli v.'ﬂﬂ{mg p[’j}l:E:ESE'-L [06]
6. a. Whatare the Cﬂ-ﬂﬁi‘ll‘ﬂtﬂtﬂiﬂf mﬂu*dmg mnd" Dlscuss their function, [D8]
[06]

b, Dcsc:nb-: machining ihe upﬁrahuns pr:rf'nmil:d on I&the machine.
c. Define the terms *Spread’, -
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-‘Elongation’ a.nr.i ‘Deall’ with respect to rolling process.  [06]
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